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QUESTION 1

What is the process for online recovery of a failed node? (Select two.)

A. The recovered node gathers the necessary files from nodes with its buddy projections.
B. The recovered node verifies that it is current once a recovery cycle completes.

C. The recovered node uses spread to speed up the recovery process.

D. The recovered node restores all files from the last backup.

E. The recovered node must be rebuilt from epoch 0.

Correct Answer: BD

QUESTION 2

When is a backup recommended? (Select two.)

A. prior to shutting down the cluster

B. prior to upgrading Vertica

C. prior to starting the Vertica cluster

D. any time large amounts of data have been added, updated, or deleted
E. any time data is added, updated, or deleted

Correct Answer: AE

QUESTION 3

What are the advantages of a merge join versus a hash join? (Select two.)
A. Sometimes a merge join runs faster than a hash join.

B. A merge join uses memory more efficiently.

C. A merge join requires no optimization.

D. A merge join can spill to disk if the inner table is too large.

E. A merge join joins the data into a new projection.

Correct Answer: BC

Reference:https://my.vertica.com/docs/6.1.x/HTML/index.htm#20001.htm
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QUESTION 4

What are the standard clauses in an analytics query?

A. ltincludes a PARTITION clause, with required over_clause, order_clause, and frame_clause.
B. It includes an OVER clause, with required partition_clause, order_clause, and frame_clause
C. Itincludes an OVER clause, with optional partition_clause, order_clause, and frame_clause.
D. Itincludes a PARTITION clause, with optional over_clause, order_clause, and frame clause.

Correct Answer: B

QUESTION 5

Which statements are true about a prejoin projection? (Select three.)
A. A prejoin projection enforces primary and foreign key constraints.
B. A prejoin projection does not increase the storage footprint.

C. A prejoin projection slows down data loading.

D. A prejoin projection can process any type of join.

E. A prejoin projection adds no limitations to the tables in the join.

F. A prejoin projection improves query run time performance.

Correct Answer:. ABE
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